Stoichiometry: BCA Table vs. Dimensional Analysis - Two methods to solve.

Both require the mole ratio from the balanced equation.

se the following balanced equation to answer Questions 1-4. 2C(s) + ZHO0(1} = CHa{g) + COz{g)
1. Using B-C-A, what mass in grams of CHs would be produced from the complete reaction of 4.00 mole of carbon?
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3. Using B-C-A, how many moles of H,0 are needed to produce 25.0 grams of CH,?
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4. 4. Using dimensional analysis, how many moles ef H,O. are needed to produce 25.0 grams of CH,?
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5. HQW many grams of ammonia, NHs, are produced when 3.6 x 10%° molecules of nitrogen react with hydrogen?
»{Nz + 3 H» ’9‘ %}NH;

6. When sulfur dioxide reacts wsth oxygen at STP, how many molecules of oxygen are needed to produce 19.8 L of
sulfur trioxide? 250, ﬁgﬁz -)3\5503
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4. 4. Using dimensional analysis, how many moles of H,0 are needed to produce 25.0 grams of CH?
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How many grams of ammonia, NHs, are Qmé;}sed when 3.6 x 10% molecules of nitrogen react with hydrogen?
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6. When suifur dioxide reacts with oxygen at STP, how many molecules of oxygen are needed to produce 19.8 L of

sulfur trioxide?
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